














































































,-- I,” &ji dx = -&]”

= -C1i-&,

= 21111x-3  I]:

= 2(ln2-In  1)

= 2ln2
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o-in y = x2 - . ..___...  _ __._  _ __..___  - _______.___..__________  _ .___I  . . . . . . . . . . (1)

666-C  x+3y  = 7 .._._____........_. CT.-........ (21___.__,________  _ .____.__... _ _.-..  - . . . . .

‘hJ,,Y~~lx  = -f,y  = ; f%J  x = 2,y = ;
. .

’ A = j-’  (F,(x)-F,(x)) dx. .
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= J’ (‘y-‘z) dx
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. x = loo. .

Wlfl x = loo wyY1~  p = 2

.  c s  =  j- pdx-(100)(2). .

=I,  -1w600-2x  dx-200
x+100

= 60 lo’, x-&dx-2~01Wx~dx-200

= 600 lo’, &dx-2  I,‘“( Lx%)  dx-200

= MX)ln,x+100,]~~-2x]%0+2001n)x+1001]1W-2000

= 600(1n200-1n100)-200+200(1n200-1n100)-200

= 8OOIn200-8OOInlOO-400

= 8OO(In200-lnl@l)-400

= 8001n2~-400

= 8001n2-460
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X -5 - 4 - 3 - 2 - 1 0 1 2 3 4 5

ye-‘/l48.41 54.59 20.08 7.38 2.71 1 0.36 i.13 0.04 0.01 0.006
I

1

- 5 - 4 - 3 - 2  -1
-x

1 2 3 4  5

X - 5 - 4 - 3 - 2 -I 0 1 2 3 4 5

Ysel’ 148.41 54.59 20.08 7.38 2.71 I 2.71 7.38 20.08 54.59 148.41
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3. y = 2e-"

%lil GY = 2&  ee4%
dx

4. y = e5'
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= 2ew4’ &(-4x)
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